Z YR B 1 e 3L 53 A R L

—. Rl ($EZEmti]: Nov. 6, 2023)

}. [75—%/81—1] —MEF R 100 (RFEZEE A, H— T =S 70, 20, 10 {4 B BERLHER—
’F, ek

(1) (X1, X2) WG], Hrh

1| ¢ 2k
i:{L ISR § %5 1o

0. WEAFIE i
(2) 4M3IK X1, Xo HOZA.
2. [78-6/85-6) & (X, V) MHA IR

_Je(6-2z—-y), 0<xr<22<y<4

(1) SKHEH e mfH;

(2) k% P(X +Y < 4);

(3) KMER P(X <1| X +Y < 4);

(4) I XY WL G R

3. [80-2/90-3] Bt (X,Y) BIRMIXIE G L3230, Hop G EZ y = —2, y =2 5 o =2 il K
(1) (X,Y) AyIBREr 8 B R AL
(2) % P(X +Y <2);
(3) X,Y Wyih& i FE %L

4. [87-10] ® X G hy: H (0,0), (1,

), (0, 3,«1)%@&%@@%5%(;®,@m7aé)ﬁmﬁmz%
%éﬁﬁﬁ@wﬁ%&&%GLm%ﬁﬁ

(1) (X,Y) fmBeEras B smgL
(2) X,Y D% REL.
. %2

1. [76-2/82-2/89-2) W& /K-FAH A AR FIRL =2, & X FORFAMT R Y 2R Bz 20
M. e B AR, HARR A AR BT, 150K

(1) (X,Y) WA,
(2) 50k X, Y WG 1hs).
2. [79-7/85-7) % (X,Y) I35 B sl L

ce@20) 2 >0,y >0
flz,y) =
0, HoAth

(1) RHEHC e BMH;
(2) MR P(X <1,Y > 2);
(3) 3K XY il 5% 5 R AL




3. [78-5] BRI R Y IRASHECH A = 1 1548881, BEbLAL &

1, Y
X, =il Yok
0, Y <k

K (X1, Xo) BB A151).
4. [79-8/86-8] B (X,Y) WMk R R EL

_ Jemy, (z,y) €@

Hr, RKif, G = {(z,y):0<y<2r HO<x<?2}.
(1) SREEL c fH;
(2) KR P(X +Y <1);
(3) 3K X, Y Wi S5 1 R 4
5. [80-1] & (X,Y) MM PAJE A Il O B ] _E i35 ) 931, d

0, X+Y >0

yo L X-Y <o
o, X-vY>o0

1, X+Y<0
U_{7 1Y <

R (X1, Xo) BB 151,

SN 1L

L [82-1.2] W " HEELAPEHIA R (X1, Xo) 5 (Y1, Ya) MERGE LD 5N plz,y) Bl g(z,y)e 2 flz,y) =
ap(z,y) + bq(x,y), BHMR f(2,y) RRA " HERENIAL B ATHR G % B R AL, W a, b 75 20 e (T Rl R 7

2. [83-1.4] @A 3 JURER, 2 HArsk, 2 HEEk, ek 4 HER, DL X FORBEIRBRIEE, LY &
RN ZLERA R, SR X R Y B & 1151

3. [85-1.7] W HEREHLA B (X,Y) RN

6x, 0<z<y<l

0, otherwise

f(z,y) :{

R P(X+Y <1).
4. [87-2.2] BRI BN B8] HIE P(X1X2 =0) = 1. 3k P(X1 = X»).

X, (ie{l,2) | -1 0 1
T 025 050 0.25

5. [88-2.3] ihbLAE R YV ~ U(0,3), PSR X L

0, Y<k
Xy, = (k=12
1, Y>k

R (X, Xo) BBCEHRR A M LR A1




